


[bookmark: _GoBack]Here are the more interesting hands from the Labor Day weekend at Atlanta. 


[image: ]N	E	S	W
		P	1N
2			X
AP 

Lead: 
After E wins the K, he should realize that the dummy indicates a shift. Declarer, who is sparse on HCP for this auction, will be trying to score ruffs in the dummy. It’s clear that W has some values inas well, because it would be more appropriate to bid or pass with, say,xx. 

[image: ]It seemed unusual that, out of 13 tables, only 3 pairs managed to bid a slam with the N/S cards! Below are some possible 2/1 auctions. N	E	S	W
			P
1	2	3	4
4	P	4N	P
5	P	6	AP 		








N	E	S	W
			P
1	X	XX	2
3	P	4	P
4N	P	5	P
6	AP



N	E	S	w
			P
1	P	1N	P
2	P	3	P
3	P	4	P
4N	P	5	P
6	AP







N	E	S	W
			P
1	P	1N	P
3	P	4N	P
5	P	6	AP





N	E	S	W
			P
1	P	1N	P
4	P	4N	P
5	P	6	AP







What the auction comes down to is 
· North has to show his two suiter. Opening 1 and then jumping to 3/4 accomplishes this. One can survive by bidding only 2. Even in MP, however, this is a serious underbid. Game makes opposite the the K and xx, in addition to other combinations. 
· South has to realize the power of his hand on the auction. The values in the South hand are all controls and mostly in partner’s suits. Despite the lack of ruffing value, South also has a 4th ! Slam is a laydown opposite
AQJTx
AQJx
Kxx
x

The danger, however, is catching partner with something like 
	AQJxx
	AQJTx
	 --
	QJx
The real issue is determining whether there are two  losers off the top. Since N/S are safe at the five level, the application of an ace asking device or control cuebidding is recommended. 

I like the last auction presented the best. The first auction, however, is the most realistic. 

[image: ]	N	E	S	W
--	--	P	2
X	3	4	AP




N/S are in 4, mercifully undoubled. What ensued makes E’s decision to not hit the contract seem better than it was. 
West led the A. What should East play at T1?
Clearly, East would appreciate a  switch. This is the source of tricks that needs to be set up to set the contract. Therefore, it seems like a discouraging signal is in order. Using standard signals, the 3 is adequate. 
Should West figure out the  switch? It looks pretty obvious. Needing three more tricks, West knows that the  suit is finished. Dummy’s  suit is threatening to set up as well. If declarer has a hand resembling
7
9543
K9653
A97
Then there are always 5, 4, and a . It can be assumed, therefore, that East has the A. Also, by consequence, West cannot switch to a club. This only expedites declarer’s plan to set up the  suit. Notice that there is no potential for a  ruff. Declarer will be aware of this possibility and play three rounds of trumps before going after s. 
Through the same logic, leading a  is extremely bad. Not only does it accomplish nothing, it could blow a diamond trick when partner has Jxx! 
Therefore, it is clear to lead a . 
Unfortunately, West continued a  for a terrible board.
As an interesting point, one expert suggested that discarding the K on this hand would DEMAND a  shift. Unfortunately, East cannot afford this brilliant play, since South just might have Qx. However, if West had advertised a 7 card  suit, playing the K is clear.


[image: ]South opened 1NT, and everyone passed (only two tables played in  partials). I considered balancing as East, but found the flat shape and vulnerability discouraging. 
West led a  at most tables, allowing declarer to wind up with 8 tricks. The next obvious lead, a , holds declarer to making 1. After five immediate rounds of s, however, the ending looks like this: 

{Insert DIAGRAM} 
[image: ]

When E leads a , declarer is in a pickle. In practice he finesses the , making the hand when it is onside (unlikely as that is, given the bidding and play). Going up only postpones the eventual loss of a  and a . With the K offside, declarer is -1 either way.
I’m not sure what the book Winning Notrump Leads would suggest is the percentage lead from the West hand. However, I do suspect that a  lead is among the top two.




The most interesting hand I will show as a bidding problem. 
MP; West V/V
(East) T5 -- AQ653 AQ9653
N	E	S	W
	1	21	??
1: 5+ 5+ Unlimited

On the incorrect notion that this was a double fit situation, I bid 6. This was doomed for -1 on the lie of the cards. 
In retrospect, it should be appreciated that partner will usually have some kind of soft defensive stoppers in one of their majors. Even though slam looks playable opposite the minor suit kings and a favorable lead (or the A), there are ways to still bid it despite preemptive advances by the opponents. The doubleton spade looks like a liability. So 5 is enough on this hand. The opponents are not going to get to slam missing two aces and whatever partner’s major suit cards are. Besides that, goading them into a 6M sacrifice is unlikely and unprofitable. +200 (or maybe 500) still loses to the field’s +600 in 5. Of course, when 6 works, it works very well.
A better bid, however, would be 4, suggesting a game forcing  raise with a  void. This can be followed up with a 5 bid if available. Should advancer prevent this (via 5), 6 becomes a descriptive, profitable bid instead.




image3.png
M Over Weak NT...-jac. X

4 52p 3, 2016 Game R

x \ @ Academic Sessions

X g Litof Events X g Litof Events

€ - € [ bridgefinesse.com/FastResults/Library/ACBLMerge/D07160903220160903SATAFTESAHTM 7 e
Apps 38 Brde Base Oine @ wwwsworklbridgeorg. @ Chattanooga Bidge €[] | hate 2NT - YuanShe [ My Account » £ Other bookmarks PCCC AGBBCCDU AGBBCED: || yp p
9 Dosble Dummy Makes T T To | [ Sfite Sien. Emphess o f o
168 NS: 4304v6a5NTS — 5 Eitng A
7 EW 34#23¢1v 24 ONT
LoTT 16-16=0 [ Smart Lookup v 8
Par-1304aw L)
|  Explore Define
15 %%, Ditfomh  ws W NS EW  Comtract — A
Q! ol N 130 11.00 0.00 4¢ S 13-Mitchell-Gupta vs 5-Casinovi-Gillispie
+284 100 10.60 1.00 44* W -1 8-Paynter-Paynter vs 8-Henderson-Watson Incongruit
#KQI54 50 8.50 2.50 46 W -1 4-Clark-Jordan vs 13-Halpern-Halpern —| gruity
wnOTOSA2  aK63 50 8.50 2.50 44 E -1 1l-Foster-Stockham vs 1-McDow-McDow | incongruity [inken'grovade] 4
e vEor2 140 7.00 4.00 36 7-Starnes-lolf vs 6-Baze-Davis =
o sy 170 6.00 5.00 36+l 3-Fischer-Cook vs 1l-Nyers-Myers
o e 200 500 6.00 505 -2 5-Brill-Hill vs 2-Roberts-lieidener —|  noun
300 3.5 7.5 54 -3 6-Jandina-Bird vs 4George-Morrison | the state of being incongruous or out of
a7 300 3.5 7.50 4+ S -3 10-Phillips-Dover vs 12-Brescoll-Hunt —|  keeping:
Vo543 0 150 9.50 4% S -4 1-Fendrick-Hopkins vs 7-Margolies-Margolies —|
+K9653 40 150 9.50 4% S -4 12-Needham-Conkuright vs 3-Johnson Jr-hright Jr —|  the incongruity of is fieshy face and
pesed 420 o0 11.00 44l 2-Brams-Meyer vs 9-Lanzarone-Nix 2| skinny body disturbed her”
1> Double Dunay Makes _|
o NS283Lelw -
VB v |
W 38 ONT &t aive ] sovenatyoocoisonsin o ot
LoTT: 18- 18=0 |
Par-14030EW  C) —
More
—|  Explore Wikiped
16 30 s WS W W NS BN Contract GRS v
'AQJT u 450 11.08  ©.60 4¥ N +1  13-Mitchell-Gupta vs 5-Casinovi-Gillispie . . o
4AT2 420 8.50 2.50 4¥ I 1-Fendrick-Hopkins vs 7-Margolies-Margolies =
209 420 8.50__2.50_4¥ I 5-Brill-Hill vs 2-Roberts-Weidener
Page2of4 689 words L] + 100%





image4.png
© Jack  Napster X/ 4w Sep 3, 2016 Game Result_ x

€ - € | bridgefinesse.com/FastResults/Library/ACBLMerge/D07160903220160903SATAFTESA.HTM [A3 B (3 Sgratue ine - | 7L Equaton
Apps 50 Brdge Base Online @ wwwworldbridgeors @ Chattanooga Bridge €[]I hate 2NT- Yuan She ] My Account » (] Otherbookmarks ht.  MosteaTime | 2 symbol~
~Ep Object ~
9 Double Dummy Makes » o Dlonect
§ 15 NS:1v 4303 043T4 L SED @
§  EW:4a40200NT v
LoTT: 17- 17=0 =
Par: -130 40 EW/4aEW )
19 % DitSomh  ws W NS EW  Comtract
7 v 150 10.95 0.85 NS +2 6-Jardina-Bird vs 2-Roberts-Weidener
48753 130 9.8 1.14 4% S 7-Starnes-Wolf vs 4-George-Morrison
#KT753 120 6.85 4.95 INS +1 1-Fendrick-Hopkins vs 5-Casinovi-Gillispie
pr— 2982 120 6.05 4.95 INS +1 2-Brams-Meyer vs 7-Margolies-Margolies
VAKS voro73 120 6.05 4.95 1IN S +1 4-Clark-Jordan vs 11-Myers-Myers
Vroea v 120 6.05 4.95 INS +1 8-Paynter-Paynter vs 6-Baze-Davis
po vop 120 6.05 4.95 NS +1 9-Bourn-Millard vs 8-Henderson-Watson
120 6.05 4.95 1NS +1 13-Mitchell-Gupta vs 3-Johnson Jr-lright Ir
22063 110 2.3 8.77 345 12-Needham-Conkuright vs 1-McDow-HcDow
va62 £ 114 9.8 1NS 3-Fischer-Cook vs 9-Lanzarone-Nix
k2 50 ©.05 10.95 NS -1 5-Brill-Hill vs 13-Halpern-Halpern
#2078
ng two
s Double Dummy Makes
109 NS:38 449526NT
16 EW: 142¥ £146NT6
LoTT 17-17=0 [
Par:<1103aNs [ °
20 2763 DN s EM NS E Contract
Q! u 100 9.86 1.14 6¢ W -1 1-Fendrick-Hopkins vs 5-Casinovi-Gillispie
+T8 100 9.8 1.14 69 W -1 7-Starnes-Wolf vs 4-George-Morrison
*7 100 9.86_1.14 64 E -1 2-Brams-Mever vs 7-Margolies-Margolies hd

+ 100
10:18PM

Pagedof4  48words [P &

2016




image5.png
ﬁ cut

Copy
Paste. "

Insert

~ ¥ Format Painter

Clipboard

Paged o4

748 words

Design  Layout  References

Mailings

uple nt

ing hands from the Labor Day

Review  View  Q Tell me what you want to do

s » ¥ Untitled - BridgeComposer o X O Find -
CalibriBody) < |11 -| A A Aa- | B0 IS~
(Bod) B Fle Edt View Inset Bowa Fomst Tools Saipt Help 0BOCEDC | o periace
- a =
IU-smexx A-¥-A- B IR e | = i & [P 5] seect-
Font 5 Paragraph D o ating | A
1 &J5
vy4 oard 19 a7
+8753 outh Deals v
4KT753 -W Val +87
4KT74 4982 = K10753
vaKS voT9 AK1074 u 582
+7964 +AQT v v
64 292 + 10964 o AQT
- 92
4AQ63 2 AQ
v862 v
K2
+ K2
*2078 2 AQIs
finesses the , making the hand 1 N by South
up anly postpanes the eventual S Tvick Lead 2nd  3d  4th
LW ¥K 4 3 2
o W A T kel 3 v
< >
For Help,press F1 Won NS=0EW=5 MOD CiP U
[} & B - 1 + 9%





image1.png
M Over Wesk NT. -jac X/ qm Sep 3, 2016 Game R x \ i Acsdemic Sessions | X | b Freshman Session ar % | 1 Duplicate Brdge LE© X

je

€ - C [} bridgefinesse.com/FastResults/Library/ACBLMerge/D07160903220160903SATAFTESA. HTM [A3 EES
Apps BB Bridge Base Online @ wwwaworldbridgeor @) Chattanooga Bridge ¢ [T] | hate 2NT - Yuan She (] My Account » (1 Otherbookmarks PCCC AGBbCcDC AGBBCEDC _ gg ot o
o i Tose Ao | x| A fitle  SubtieEm.. Emphasi N Select~
4 Double Dummy Makes — e N
719 NS: 43459446 NT3
10 EW: 4814329 4NT a6 Smart Lookup - %
LoTT 16-17=-1 [ _
Par -630 4NT-EW _| Explore Define
— ~
7 Lyee DESh s ew s BN Contract
v 130 10.95 ©.05 34 W +1 1-Fendrick-Hopkins vs 11-Myers-Hyers =|  Incongruity
$AT 200 9.86 1.14 3% N -1 1l-Foster-Stockham vs 5-Casinovi-Gillispie K o
K875 600  6.05 4.95 3N W 2-Brams-Meyer vs 13-Halpern-Halpern —| | incongruity [ inkan'grooade] 4
P oS 600  6.05 4.95 3N W 3-Fischer-Cook vs 2-Roberts-Weidener —
voa86 vaKa 600  6.05 4.95 3N W 8-Paynter-Paynter vs 12-Brescoll-Hunt | noun
et K176 600  6.05 4.95 3N W 10-Phillips-Dover vs 3-Johnson Jr-Wright Ir | feste ot cof
12 20963 600  6.05 4.95 3N W 12-Needham-Conkwright vs 7-Margolies-Margolies k:s '@ ofbeing Incongruous or out of
AT 600  6.05 4.95 3N W 13-Mitchell-Gupta vs 9-Lanzarone-Nix = eping:
aKJ5 630  1.68 9.32 3N W+l 4-Clark-Jordan vs 4-George-Morrison =
vro753 630 1.68 9.32 3N W+l 9-Bourn-Millard vs 1-HcDow-McDow T“‘"‘:”j":’y“ﬁsk’f’y”m"""
+8432 660  ©.05 10.95 3N W +2 6-Jardina-Bird vs 8-Henderson-Watson | | skinny body distur "
hs —
§  Double Dummy Makes —
16 12 NS 4202938632 Tl povers by Octoabiceonsies © Otord ety
4 EW:584e4v /18 4NT 267 b -
LoTT: 17- 17 = -
Par: 630 4NTEW = I More
—|  Explore Wikipedia
g8 jpemes DNl W EW NS BN Contract v
AQJ" ul: None 280 9.86 1.14 o4 N 4-Clark-Jordan vs 4-George-Morrison 1 - - P
2 980 9.85 1.14 64 N 10-Phillips-Dover vs 3-Johnson Jr-Wright Ir
Page 2014 689 words - & + 100%





image2.png
M Over Wesk NT. x| g Sep3,2016.G x \ B Acsdemic Sess x | B Freshman Ses= x| ) Duplicate Bride. X | {4 Howcanityp X

€ - C [ bridgefinesse.com/FastResults/Library/ACBLMerge/D07160903220160903SATAFTESA HTM [A3 EES
Apps BB Bridge Base Online @ wwwaworldbridgeor @) Chattanooga Bridge ¢ [T] | hate 2NT - Yuan She (] My Account » (1 Otherbookmarks PCCC AGBbCcDC AGBBCEDC _ gg ot o
i Double Dummy Makes gl Bof26] A | w | x | ~ [itle  SubtieEm.. Emphasis I Select~
16 12 NS 4202938632 = 5 Edtng | A&
4 EW: 58 44 4% -/1 4NT 267
LoTT:17-17=0 & ]
Par:-630 ANTEW 2
g8 jpemes DNl W EW NS BN Contract =
'AQJ! ‘ul: None 980 9.8 1.14 64 N 4-Clark-Jordan vs 4-George-Morrison
2 980 9.85 1.14 64 N 10-Phillips-Dover vs 3-Johnson Jr-Wright Ir
7 980 9.8 1.14 64N 12-Needham-Conkuright vs 7-Margolies-Margolies =
aro8 .2 180 3.85 7.14 56 N +1 8-Paynter-Paynter vs 12-Brescoll-Hunt ul
v Va3 480 3.86 7.14 56 N +1 9-Bourn-Millard vs 1-McDow-McDow =
V87532 “Kara 480 3.85 7.14 48 Nl +2 1-Fendrick-Hopkins vs 11-Myers-Myers
o172 064 480 3.85 7.14 48 N +2  2-Brams-Meyer vs 13-Halpern-Halpern =
#AK 480 3.86 7.14 48 Nl +2 6-Jardina-Bird vs 8-Henderson-Watson —
K64 480 3.86 7.14 44 N +2 1l-Foster-Stockham vs 5-Casinovi-@#llispie —he dummy
VK652 480 3.8 7.14 48 Nl +2  13-Mitchell-Gupta vs 9-Lanzarone-Nix —l e for
+296 480 3.8 7.14 4¥ N +2 3-Fischer-Cook vs 2-Roberts-Heidener e urmmy
*853 I because it
17 Double Dummy Makes __[ith, say, xx.
2 11 NS:6v6aINT 4343 -
10 EW: 38 3¢ 041 NT1 —
LoTT: 21 - 18=+3 c I
Par: <800 7+ EW/74*EW-4 | * —
9 ez PENe WS g WS EW Contract ]
K v 60 9.3 1.68 3N S +2 2-Brams-Meyer vs 12-Brescoll-Hunt
+032 460 9.3 1.68 3N S +2 5-Brill-Hill vs 5-Casinovi
154 260 9.32 1.68 3N S +2 10-Phillips-Dover vs 2-Roberts-Weidener —
oo s 460 9.3 _1.68 3NN +2 _12-Needham-Conkwrieht vs 6-Baze-Davis
Pagelof 1 82words L2 L] + 100%





